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Question Paper Specific Instructions

Please read each of the following insitructions carefully before attempiting
questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and & are compulsory and out of the remaining, THREE are lo be
attempted choosing at least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QQCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted cven if attempted partly. Any page or portion of the page leff
blank in the Question-cum-Answer Booklet must be clearly struck off.
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©is A
SKECTION A

Ql. (a) () A 3R B %huen fFn fs 9 a@ 3 31 4 & = THel, Alhd AT
Teh-gl % U 10 fime @ Samqr saoi 78l et Bt | 39 T o
qiferehdl T el shifsu |

A and B decide to meet between 3 p.m. and 4 p.m., but each of them

should wait no longer than 10 minutes for the other. Determine the
probability that they meet. 2

(i) X, Y 3 Z = Ta8eh a4 hl JTRHATY AT i £ 3ﬂ1‘ % | JTREhdTE

%aﬁx Y 3R Z 994 4 I1d & q\lvi{-ia“ﬁl:ntuqqﬂmwﬁm

; S % | 38 1 b1 F WRhar 8 foh @ ST <o

GITQ"ﬁ ‘?3ﬂ1?ﬂE SIE AT =0 ST A A, AT I K
Tfrehdt & b W[k Tehal T Ueitieh Y T 2
4 2 1

The probabilities of X, Y and Z becoming managers are o and '

respectively. The probabilities that Bonus Scheme will be

introduced if X, Y and Z become managers are i, 1 and 2

10 2
respectively. What is the probability that Bonus Scheme will be

introduced ? And if Bonus Scheme has been introduced, what 1s the

probability that the manager appointed was Y ? 4

(iii) Tk TIRIY STRT & U o T 3@ Y = X + 5 3 16X = 9Y — 94
off | ufe ¥ o1 9&wr 16 81, @ X &1 JE0T 37 shiford | @1er g, X 3R Y
& o9 YTl 37Td hify |
The two regression lines obtained from a certain data were

Y =X +5 and 16X = 9Y - 94. Find the variance of X, if the variance
of Y is 16. Also find the covariance between X and Y. 4

(b) TH FEfashedt forret A 200 T¥9 7, 8 y=is o IR ave I 8, N 9 Had
T I A e B | 39 91a dh Uilkenal w1 & b R yeAl w1 3ficar &t g
T8 2, T 80 wEHI (200 wwAl ¥ @) § g ¥ I feuy 9 W, 25 ¥ 30 WA
& I Sieh BI ST 2

A multiple-choice quiz has 200 questions, each with four possible
answers, of which only one is the correct answer. What is the probability
that sheer guesswork yields from 25 to 30 correct answers for 80 of the
200 questions about which the student has no knowledge ? 5

M-ESC-D-MNG 2
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Th HUAl @ ThR <kl wial 1wt sl 2, e & fu sram 9wl
JehTeh b1 STTEVhdl Bidl & | Sioteg ushy & fu om = 18 uel, 38 & &
8 Tl oY STTEvEEl Bl & 3N IUA TATHT T 450 ITT R 8 |’ JefH
fow o % 3 =, 3 A & 4 =l bl EITRAT Bidl g AN ITH GATHI
T 250 U Bidl 8 | YA HalH H g8 o 800 ©d 3T ¢ HH b 600 =S
3uetey] & | faaum qaiqam 4 fe@rn g fob ames wefia ok T wnidss /1 150 9
SAE B R | TeUE AT =TEdT @ {6 ot g @1 Jiftresaien ol i & folg
TR TN & Hisel 1 fohadl S©IT %1 Svdred fhar Srem arfEe | saen!
A d. 0. & 9 ° SH8U 37 & hifuu |

A company manufactures two kinds of machines, each requiring
different manufacturing techniques. The deluxe machine requires
18 hours of labour, 8 hours of testing and yields a profit of ¥ 450. The
standard machine requires 3 hours of labour, 4 hours of testing and
yvields a profit of ¥ 250. There are 800 hours of labour and 600 hours of
testing available each month. A marketing forecast has shown that the
monthly demand for the standard machine 1s to be more than 150.
Management wants to know the number of each model to be produced

monthly that will maximize total profit. Formulate and solve this as a
LPP. 10

(i) TSUT I YOTell (T9.3718.T9.) S o 8 2 9= SAgEr e

(ASHTIRLT) oh H1Y I8 b8 YHR JSI 85 8, Th 3418 < d1Y 38 W

T=] <hItom |

What is MIS planning ? Discuss with an example how 1t is linked
with general business planning. 5

(i) TS TR YoTier & TUI-gNl 3R ATHATS Faa o Tafdss 31
A gl W == iy |

Discuss the merits and demerits of online payment systems and the

legal and ethical issues of online business. 5
(iii) T[OTT <hl AT BT T AL BlAT B ? 3ok USh i FUH HINT |
What is meant by cost of quality ? Describe 1ts components. 5}

TEQUl TETEH % €9 W gEdT & oy srficrgen o ==t i 3w sl
3G 1 el H 13U b Ueh hithl € TeA H ST Y60l [9UPT § G=[1
1 foFe IR TshHUT okl SITdT B |

Discuss the special characteristics of information as an important
resource and show by means of a block diagram how information is
procececod in an order processing department in a fairly large
organisation. 10

M-ESC-D-MNG 3
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Q2. (a) U flgeiir ol U U 3G A1ed &l Tqicld o o & o @ 8, S 3
gfqanft & sl Beald Wd & T%hd Hisd ol Iiaeqdl i & o
gAeI-eh Pedld Higd 1 fafmion $oft | f9a $r, 99 s aga 3R
qeafdar sawehard = aroft § & 0 §
foa = g9 (Svs o) geadi

A 40 i3 T8l
B 20 A

C 15 B

D 60 &g Tai
E 20 D

F 10 C

G 10 C

H 10 E

I 10 E

J 5 F,G HI
K 10 J

gt

(i) T 3FhH ARG SHIT |

(ii) TET Pl 60 YHUS Tsh DI b WY Hlcid hid o I, B TIAT I
ATFYIh Hgliaeh =JAaq T&I1 91 8t 2 U I 0 7 92 i foham ran
g |

(iil) 60 HRUS =sh hicT Tid §Y AT sl Ggleid hIfT |

(iv) T3 ! g&Iat feha-l & ?

A toy company is interested in balancing a production line that will
manufacture an electronic football game to compete with the similar
successful model of its rival. Tasks, task times and precedence
requirements are given in the table below :

Task Time (1n sec) Predecessors

A 40 None
B 20 A
C 15 B
D 60 None
E 20 D
F 10 C
G 10 C
H 10 |

I 10 E

J 3 F,G, H,I
K 10 J

M-ESC-D-MNG 4
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(i) Construct a sequence diagram.

(ii) Ta halance the line with a 60 second cycle time, what 1s the
theoretical minimum number of work stations required ?
A 7 hour day 1s worked.

(ii1) Balance the line taking 60 second cycle time.
(iv) What is the efficiency of the line ? 3+4+4+4=15

b) () UF i ©Wr A s gwr & e T 1,10,000 i foshl 61 qeigam
SR o | aredfdeh skl € 1,25,000 T EE | T a = 0-1, $4 dudig b
e qaigam w0 8 2 A 3@ gwag il @ 1,20,000 81 S R, @ eET
g & foe qaigam@ I gem 2

A department store had forecast the sales of ¥ 1,10,000 for last
week. The actual sales turned out to be ¥ 1,25,000. Given o = 0-1,
what is the forecast for this week ? If sales this week turn out to be

Z 1,20,000, what is the forecast for the next week ? 5
Gi) o fremm e 9% (ww.E.ua. ) & Jeudd SUH sl T N |

seh! Awgfaa 3 HEARET T == Y |

Explain Waterfall approach to system development life cycle

(SDLC). Discuss its strengths and weaknesses. 5

(i) U WET N U™ * &F & FanfEel & fiw s e o 9 8, 3.
futo 8 ¥ v & v geaifed tarfes 939 =1 g A S
1ot 91 | fmior werer wgt Hmnet & ofiqt @ 3T 3 R e
B % 3 diel TegE HW ©, fop Fmfor it wwerl i At wiglt ared
£ 9t T F HRU yEaE 9" g8 S | 98 Fuien s % fog e
e 1 U8 o arel wgl aiel ST ITHYE % &l % diedl & HHIUId
I SuTer 3R B A1 e, T HanuEn hl Sdi 2 | afg 200 el 9l ° 9
190 AL AN ATEIET F 89 % 500 I T 8 240 T YEdE & 9T H
g, @ RN o9 weWd B f5 wear@ % ua H owgd Sl Wi U
TEUTE & & & el § I=R & ? 5% 6 Gidehdl T BT FATA

hITTT |

A vote is to be taken among the residents of a town and the
surrounding area to determine whether a proposed chemical plant
should be constructed or not. The construction site is within the
town limits and for this reason many voters of the surrounding area
feel that the proposal will pass because of the large proportion of
town voters who favour the construction. To determine if there 1s a
significant difference in the proportion of town voters and
surrounding area voters favouring the proposal, a poll is taken. If
120 of the 200 town voters favour the proposal and 240 of 500
surrounding area voters favour the proposal, would you agree that
the proportion of town voters tavouring the proposal is higher than
that of the surrounding area voters ? Use a 5% level of significance. 5

M-ESC-D-MNG 5
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() (1) 200 H 4 ¥, 75 FgAH & 0 ¥ 40 & FI@ Uar &, Jafes s
el H H 85 < A% fuar & | &= 3 31ere 39 Ufeheudr 1 qHeH
hid 7, Toh P TUareTi & FlgaH o 8id & 2
(Farert bl hliedl 1, 2, 3 3R 4 % [T HE-a7 Yoo HU: 3-841, 5991,
7-815 3R 9-488 FHTA HIfT |)
Out of 200 boys, 75 are intelligent of which 40 have skilled fathers,

while 85 of the unintelligent boys have unskilled fathers. Do these
figures support the hypothesis that skilled fathers have intelligent

boys ? 5
(Use Chi-square values 3-841, 5-991, 7-815 and 9-488 for degrees of
freedom 1, 2, 3 and 4 respectively.)

(i) Weh Yoll 3T&eell Hg = foiu 2fFeh §im 120 & #1eg 3T 15 & "Mk o=
& Y JEIG: §fed 8 | 31, gfd @ @ld favaeda g i onman
4 T& 31 3TAT T IATC TEaT 7 | Al ST e T AN T 45 3N e
YRU AFTd T 0-75/3h13 81, Al 95% Tdl TR YeH i & o firgesd
(srerditer) STt AET SR gA:3Te fomg 3 i | wH 5 fmawr,
52 TR Ui a9 i il 2 |
The daily demand for a component assembly item is normally
distributed with a mean of 120 and standard deviation of 15.
Furthermore, the source of supply is reliable and maintains a
constant lead time of 4 days. If the cost of placing the order is T 45
and the annual carrying cost is ¥ 0-75/unit, find out the economic

order quantity and the reorder point to provide a 95% service level.
The firm operates 5 days/week, 52 weeks/year. 10

(iii) Wl 1. T 371%. &l /0g8 & 3IU=R o foTw gansti & foepm & gau™
$ e T 10 HUS &1 69w & &1 g & & 2 | #7379 3G
“qiEST g Tehd & ? ffaca Tag hifsa |
Ranbaxy Ltd. is deciding to invest ¥ 10 crore in research for
development of medicines to cure HIV/AIDS. Can you term it as a
“project” ? Justify. 5

Q3. (a) U BY UH T3 al ol [dhM HH 3T U0 & &) A1 a1 @1 8 | 2T &
forepT® o5 e forga @Y™ W AW &1 W £ 1,00,000 STET TET 8
YUY SRhH o Ya9$ 4 Al 8 foh 21 & awa o™ 1 60% a2
ST TSI hT 3TTeha Hd o STHER 2

ST TS YTRIhdT  HAT% I FadH G ()
S RCIS IR 0-1 50,000
HEH HT6I 0-6 25,000
EERIREII 03 10,000

M-ESC-D-MNG 6
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JIUE oI AhSl W ITHYH R AT MHA g1 3 | S+ BH 36 T W

feram ot <8t off, weh g, AT A, ST fererel | ST | g ST
& fau oft T 1,00,000 & %1 <hi AT g, g 9% HA1% okl dil.

(dH™ ) T 12,000 2 | 98 T8 @ fh g A o HEw W giawer v

2 |

3ugeh uia el 1 @] W & g B HieT 6 T 1,00,000 H

999 @ & TEY H BH I 1 " HET 18T 2

A firm is planning to develop and market a new drug. The cost of
extensive research to develop the drug has been estimated at
T 1,00,000. The manager of the research program has found that there
is a 60% chance that the drug will be developed successfully. The market

potentlal has been assessed as follows :

Market Potentlal Probability PV ojf Profit (3)
Large Market 0-1 50,000
Moderate Market 0-6 25,000
Low Market 0-3 10,000

The present value (PV) figures do not include the cost of research. While

the firm is considering this proposal, a second proposal, almost similar,
comes up for consideration. The second one also requires an investment
of ¥ 1,00,000, but the PV of all profit 1s T 12,000. Of course the return
on investment in the second proposal is certain.

Recommend, by applying appropriate decision criteria, what decision
should the firm take regarding the investment of ¥ 1,00,000 7

(1) a9 i fauuE o Hed d, dngd o Yidsuicds Y U A 6
fore, wrarfvsa & 3T 9T == IS | T g, g-aniorsy i giEiHie
T =l hIfau |

Discuss the use of M-commerce to achieve competitive advantage
for an organisation in the context of web-based marketing. Also

discuss the limitations of E-commerce.
(i) e T3 & fou, A=faiag 3Tere Iuasy &

0 1 ) 3 4 5 6
T &hl AT (T) _ 200 400 700 1000 1400 1600
Ad3dId Lh ohl

., 1200 1200 1400 1600 2000 2600
CRERED
039 @Us] o HI

- 600 800 700 1000 1200 1600
g1 (F)

qHidshd god (T) 12000 6000 3000 1500 800 400 400
39fcs T3 1 Sge & Tou gean arafy @t M i |

M-ESC-D-MNG /7
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For a machine, the following data are available :

0 1 2 3 4 5 6
Cost of Spare () - 200 400 700 1000 1400 1600
Saiary ek _ 1200 1200 1400 1600 2000 2600
Maintenance Staff ()
SR ik 5 ~ 600 800 700 1000 1200 1600
Breakdown (3)
Resale Value (T) 12000 6000 3000 1500 800 400 400

Determine the optimum period for replacement of the above
machine. 10

(¢) () Il TH IAGEHS W x WME A Bl JIAW Hal g oy fh
e (x = 1) = 919 (x = 2), a9l HIET TI JEWO[ [d HIT | T (x = 0) i

A hINT |

If a random variable x follows a Poisson distribution such that
Prob (x = 1) = Prob (x = 2), find the mean and variance. Also find

Prob (x = 0). 3
(i) STeed T &1 R 7 gdl g8 2 INF, 2NF 37T 3NF &l 9ui

I |

What 1s meant by Database Normalization ? Describe 1NF, 2NF

and SNI¥. 6

(iii) ¥ 398 & [0 $© AUl Yd-TEIHarsli W Il I |
gHIEU foh 3-ThR HlaslHeh HEA!I H ANTHS U89l b h8 YK
TId T Tehdl 8 |

Discuss some of the important pre-requisites for successful
e-governance. HExplain how can e-government improve citizen
participation in public affairs. 6

Q4. (a) (1) GifeThia sk a0 w=0 a1 & 2 98 S Sfd=e < fopd srdl o
i 2 2 wshw T9R—E0T © §18T e gl I1d] @ ? e Srer v ) usem
w4 1 = fove yr 3uaift g1 gd g 2 Tase Hifsu |

What 1s statistical process control ? How 1s 1t different from
acceptance sampling ? When 1s a process said to be out of control ?
How can control-charts be of use in identifying out of control
process ? Explain. 5

(ii) ‘“BRIETA shl AT Y[HeRI Bl g ? 3794 TS o WAl BRRATAI bl fIehTd
T IO BRAA diteal Elcd & 3Muides i W ==l

HINTT |

What 1s the role of a ‘Firewall’ ? Discuss the relative merits of
developing firewalls in-house or buying a commercial fircwall

software ? 15
M-ESC-D-MNG 8
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fafad 3care a@ar & T8 B, doa IR fHad STeavIsRdei &

faemlie, 2TRde 3 FHearm hifse | wft swar snd awargi ° 8 3R 93T

AT Sedl 1§ fow

578 8 | TH.YLTH. 374G A bl 700 SHISAT <l HIT H{T B,

Rreeh! 12 gl # guéht &eh 2 | Sl & 9 ¢ o E g6l § ya@e #
300 ThEAT IR 8 |
it aTavaess N & T ey famem srer &1 fsim Fife |

A
LT =4
C(1400)
B(1400) LT = 3
I
D(4200) E(2800) 1F(1400)
LT — 2 LT = 2 LT = 4

(Given the following product structure of A; explode, offset and determine

the gross and net requirements. All lead times (L'T) are in weeks and the

quantities required are shown in parentheses. The MPS calls for

700 units of product A, to be delivered in week 12. The company has in

hand 300 units of each of the components C and E.

Determine the order release data for all necessary orders.

M-ESC-D-MNG
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(¢) (1) DBMS 3R RDBMS & &9 &I 3al ol T HIWT | 37 HIHRR
IcqTel o 9 Fad1se, Sl DBMS 31 RDBMS GHi o 3T{UTelsh gl |

Explain the key difference between DBMS and RDBMS. Name the
software products which are both DBMS and RDBMS compliant. 10

(i) 3-aTfU= 6 qo JEe R -1 oh AT o [T KRR
ol Hifsu | fordlt T8 B IO & o, S 3-arfirsy i o
3T KT MEdl 8, 379 I TAvesu &1 IRY {8 ThR il ? WK
$HIT |

Describe the value chain of e-commerce and the procedures for

implementing e-commerce. How would you start performing the
industry analysis for a small business that wants to launch an
e-commerce project 7 Explain. 10

M-ESC-D-MNG 10
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SECTION B

Q5. (a) o= R fagm § m (Fraw) o =1 g’ fra YR qerers
oY % g @ 199 8 ? 30 9 SH-a1 fees srfemr— g 2

In International 'I'rade Theory, how is ‘Theory of Absolute Advantage’

different from ‘Theory of Comparative Advantage’ 7 Which of these is
more preferred ? 10

(b) Ul (wrane) Hifd’ 8 19 = guEd 8 ? 98 ag Hifd’ 9 a e g 2

What do you understand by ‘Corporate policy’ 7 How 1s 1t different from

‘Business policy’ ? 10
(¢) SATTEIRIP HiEl U UsH i Yfiept 6t fag=qr Sife |
Discuss the role of the State in business activities. 10

d) “Tmies ggey’ @ O 399 o Hed U TI¥ vl | HE-3eHl & w3 °
HH-8 I ) =R fom a1 =igu 2

Distinguish between “Strategic alliance” and “Joint venture”. What
factors should be considered in choosing a co-venturer ? 10

(e) SO HIR Tl (unsr) ey =mfteswr & figrda stftesr i
e, uqaly, ddd, QMU den S@Eiel ¥ wdit|, gedr Senfreh
srfertm, 2000 & fafy= graarEt i samear hifn |

Explain the various provisions of Information Technology Act, 2000
relating to appointment, term of office, salary, resignation and removal
ol the Mresiding Officer of the Cyber Appcellate Tribunal. 10

Q6. (a) TIEU IMWERI (WAU) Ud AW Tadt WhEsd (@) R 8 2 39 fory
Joh dIR TRaT ST © 2 Seretr afed sarean hifsu |

What 1s Environmental Threat and Opportunity Profile ? How 1s it
prepared ? Illustrate with an example. 10+10=20

(b) (1) YR U (PMRT) AT ¥ B a8 b GaqE 3ISEON hl GgrEar 9
e fafatear va dfas fafagar 6 saren Hifsm |

Explain concentric diversification and horizontal diversification
citing recent examples from the Indian corporate world. 10

(i) o A AU Ager (fagdl arefiieRtor) sl AAfThaTl AT 8 2
gfc gF ar o= IR A1 a1 = AT 2
Do you think hostile takeovers are unethical ? Why or why not ? 5

M-ESC-D-MNG 11
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(¢) T fafas a4 & o smavees dftes Nu=iehdrastl ud shridieRl i =ared
$HINT |

Explain the legal formalities and procedures to become an exporter. 15

Q7. (a) HTEfRA 9T W1 “OFF ool T WIS BH o Taeadichs ¥y 1 fowamur st
T FU UG Bidl 2 29U HIT | 30 ATSA bl SR 1t guia Hifsa |

Describe how Michael Porter’s ‘Five Forces Model’ helps in analysing a
firm’s competitive advantage. Also describe the weaknesses of this

model. 154+5=20
b) () TEE H g6 4 9Ra Hi focw =R Aifd @ yghil w1 A
YT hifT |

Critically evaluate India’s Foreign Trade Policy and trends 1in
recent years.

(i) ‘“ard ° T (A 39 sfe) =1 AEH = aRaad &1 d@eeal g 2
Do you think the ‘Make in India’ call can bring in changes ? 154+56=20

(c) wTSfa-goEh! ¥ gRamon # o1 TeTe R foRAIT o | SR SRl ¥ 3@
o) faear et foeamstl = TG e | ufomiseeg 38 dgamT,
TSI B e weftue it o oo | fomamges wase hife fop et & ofier
frfefaa w&s gy form YR & 3gehi omy wriHifa s gafaa san
(i) To gEeE
(i) e FEYE RS
Maruti-Suzuki had started operations in Haryana. Due to a variety of
reasons it shifted its expansion activities by setting up a plant in

Mehsana, Gujarat. Explain how each of the following resources within
the company might influence its overall strategy : 5+5=10

(1) Financial Resources

(11) Human Resource Planning

Q8. (a) () v o ufram Hfifa &1 gureraATcHs gearehd Sifve 3R -t

Hifd o o1 I FA13T |

Critically evaluate the EXIM policy of India and state the key
objectives of the Export-Import policy. 10

(i) Taaa faeen wd & fAsqre wa gfaequalicns a6 8 yTfad idr 8 ?
sipemelt Stwrendl et f T i e YR 37N i 8 2

How does the governance system affect firm performance and
competitive advantage ? How do powerful shareholders exacerbate
the agency problem ? 10

M-ESC-D-MNG 12
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Z
(b) TEUSH FHrafEl H Jarud gad wRAG TS waiE @ 8 e g @ 2
ST <hIT |

How does the management strategy of mullinational companics differ
from that of national companies ? Explain. 10

(¢) () WRa# faia 7o foawr gurmel shi sIre il |
Explain the Export Credit Delivery System in India. 10

(ii) U%.g1.313. & dfvas gl bl lada- s |
Discuss the Global trends in FDI. 10

M-ESC-D-MNG 13
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Standard Normal Probabilities

Table entry

Table entry for z is the area under the standard normal curve
to the left of z.

z .00 01 .02 .03 04 .05 .06 .07 .08 .09
—5:4 .0003 .0003 .0003 .0003 .0003 .0003 .0003 .0003 .0003 .0002
3.3 0005 0005 .0005 .0004 .0004 .0004 .0004 .0004 0004 .0003
—3.2 .0007/ .0007 .0006 .0006 .0006 .0006 .0006 .0005 .0005 .0005
~3.1 .0010 .000S .0009 .0009 0008 .0008 0008 .0008 .0007 0007/
-3.0 .0013 .0013 0013 0012 .0012 .0011 0011 .0011 .0010 .0010
2.8 .0019 .0018 0018 0017 0016 0016 0015 0015 .0014 .0014
—2.8 0026 0025 0024 0023 0023 0022 0021 0021 0020 .0019
2o .0035 .0034 0033 .0032 .0031 .0030 .0029 .0028 .0027 0026
~2.6 .0047 .0045 0044 0043 .0041 0040 .0039 .0038 .0037 0036
—2.5 0062 .0060 .0059 .0057 .0055 .0054 .0052 .0051 .0049 .0048
—2.4 0082 .0080 0078 0075 .0073 .007/1 0069 .0068 0066 0064
=23 .0107 0104 0102 .0099 .0096 .0094 .0091 .0089 .0087 .0084
~2.2 0139 0136 0132 0129 0125 0122 0119 0116 D113 0110
—2:1 0179 0174 .017/0 0166 A1) .0153 0154 0150 01406 .0143
—-2.0 0228 0222 0217 0212 0207 0202 0197 B192 0188 0183
-1.9 0287 0281 0274 0268 0262 .0256 .0250 0244 0239 0233
-1.8 0359 0351 .0344 0336 .0329 0322 0314 .030/ .0301 0294
-1.7 .0446 0436 0427 0418 .0409 .0401 0392 .0384 0375 .0367
-1.6 0548 0537 0526 0516 0505 .0495 0485 .0475 .0465 .0455
1.5 0668 0655 0643 .0630 0618 .0606 0594 0582 0571 .0559
-1.4 0808 .0793 0778 0764 .0749 .0735 0721 .0708 06594 0681
=13 0968 0951 .0934 0918 .0901 0885 .0869 .0853 .0838 0823
—~4.2 1151 1131 1112 .1093 1075 .1056 .1038 .1020 1003 .0985
~1:1 1357 1335 1314 1:292 1271 1251 1230 1210 1190 1170
-1.0 1587 1562 1539 .1515 L2 1469 .1446 1423 .1401 1379
-0.9 .1841 1814 .1788 1762 1736 1711 1685 1660 1635 1611
—0.8 2119 .2090 2061 2033 2005 1977 .1949 1922 .1894 .1867
.7 2420 .2389 2358 2327 2296 22006 2236 2206 2177 .2148
—0.6 2743 2709 2676 2643 2611 2578 2546 2514 2483 .2451
-0.5 .3085 3050 3015 2981 2946 2912 2877 2843 2810 2776
—0.4 .3446 .3409 3312 ;3336 3300 3264 3228 2192 3156 3121
.3 3821 3783 3745 3707 .3669 .3632 .3594 3557 3520 .3483
0.2 4207/ 4168 4129 4090 4052 4013 3974 3936 3897 .3859
0.1 4602 4562 4522 4483 4443 4404 4364 4325 4286 4247
0.0 .5000 4960 4920 4880 4840 4801 4761 4721 4681 4641

M-ESC-D-MNG 14


https://prepp.in/

www.prepp.in

prepp

Your Personal Exams Guide

Standard Normal Probabilities

able entry for z is the area under the standard normal curve
to the left of 2.

Z .ED _ .01 02 03 .0_4_4_ 05 .06 07 .08 .09
0.0 S000 .5040  .5080 5120  .5160 5199 5239  .5279  .5319 .3359
0.1 5398  .5438  .5478 5517 5557 5586 5636  .5675 5714 5753
0.2 .5793 5832  .5871 5910  .5948  .5987 .6026 .6064  .6103 6141
0.3 6179  .6217  .6255 6293 6331 6368 .6406  .6443 .6480 6517
0.4 6554  .6591 6628 6664  .6700 6736 .6772  .6808  .6844 6879
0.5 6915  .6950  .6985 7019  .7054 7088 7123 .7157  .7190 7224
0.6 7257 7291 7324 7357  .7389 7422 7454 .7486  ./51/ . 7549
0.7 /7580  ./611 7642 7673 .7704 7734 7764 7794 7823 .7852
0.8 .7881 7910  ./939 7967 7995 8023 .8051 .8078  .8106 8133
0.9 8159 8186  .8212 8238  .8264  .B289 .8315 .8340  .8365 8389
1.0 8413  .8438  .8461 8485  .8508  .8531  .8554  .8577  .8599 8621
1.1 8643  .8665  .B6BO 8708 .8729 8749 8770 .8790 .8810 8830
1.2 8849  .8869  .8888 .8907 8925 .8944 8962  .8980  .899/ 9015
1.3 9032 .9049  .9066 9082 9099 9115 9131 9147 9162 9177
1.4 9192  .9207  .9222 9236  .9251 .9265 .6279 .9292  .9306 9319
1.5 9332 .9345  .835/ 9370 .9382 .9394 9406 .9418 .9429 9441
1.6 9452 9463 .94/4 9484 9495 9505 .9515  .9525  .9535 9545
1.7 9559 9564  .95/73 9582 9591 9599 .9608 .9616  .9625 9633
1.8 9641 9649  .9656 9664  .9671 .9678 .9686  .9693 9699 9706
1.9 9713 9719 Y6 9732 9738 9744 9750 9756 .9/61 9767
2.0 9772 9778  .9/83 9788 .9793 .9798 .9803 .9808  .9812 9817
2.1 9821  .9826  .9830 9834 9838 .9842 9846 .9850  .9854 9857
2.2 9861 9864  .9868 9871 9875 .9878 .9881 9884  .988/ 9890
2.3 9893 9896  .9898 9901 9904 9906 9909 .9911  .9913 9916
2.4 9918 9920  .9922 9925 .9927 .9929 .9931 9932 .9934 9936
2.5 9938  .9940  .9941 9943 9945 9946 .9948 .9949  .9951 9952
2.6 9953  .9955  .9956 9957 9959  .8960 .9961 .9962  .9963 9964
2.7 9965  .9966  .9967 9968 .9969 9970 .9971 9972  .99/3 9974
2.8 9974 9975  .9976 9977 .9977 9978 .9979 9979  .9980 9981
2.9 9981 9982  .9982 9983 .9984 .9984 .9985 .9985  .9986 9986
3.0 9987  .9987  .9987 9988 9988 .9989 9989  .9989 9990 9990
3.l 9990  .9991 9991 9591 9992 9992 9992 9992  .9993 9993
3.2 9993 5993 8994 9994  .9994 9994 9994 9995  .9995 9995
3.3 9995 9995 9995 9996 .9996 .9996 .9996 .9996  .9996 9997
3.4 9997 H890 2 8994 Q97 Q97 Q4997 9997 9997 990/ 9998
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t Table

cum. prob| .50 t.75 .80 £.85 £.90 £.95 t.975 £.99 £t 995 t.999 t.9995

one-tail 0.50 0.25 0.20 0.15 0.10 0.05  0.025 0.01 0.005 0.001 0.0005 [
two-tails 1,00 0.50 0.40 0.30 0.20 0.10 0.05 0.02 0.01  0.002 0.001

df
1 0.000 1.000 1.376 1.963 3.0/8 6.314 12.71 31.82 63.66 318.31 636.62
2 0.000 0.816 1.061 1.386 1.886 2.920 4.303 6.965 9,925 22.327 31.59Y
3 0.000 0.765 0.978 1.250 1.638 2.353 3.182 4.541 5.841 10.215 12.924
4 0.000 0.741 0.941 1.190 1.533  2.132  2.776 3.747 4604  7.173 8.610
5 0.000 0.727 0.920 1.156 1.476  2.015 2.571 3.365  4.032  5.893 6.869
6 0.000 0.718  0.906 1.134 1.440  1.943 2.447 3.143  3.707  5.208 5.959
7 0.000 0.711 0.896 1.119 1.415 1.895 2.365 2.998  3.499  4.785 5.408
8 0.000 0.706 0.889 1.108 1.397 1.860 2.306 2.896 3.355 4,501 5.041
9 0.000 0.703 0.883 1.100 1.383 1.833 2.262 2.821 3.250 4.297 4.781
10 0.000 0./00 0.8/9 1.093 1.372 1.812 2.228 2.764 3.169 4.144 4.587
11 (.000 0.697 0.876 1.088 1.363 1.796 2,201 2.718 3,106 4.025 4.437
12 (0.000 0.695 0.873 1.083 1.356 1.782 2. 15 2.681 3.055 4930 4.318
13 0.000 0.694  0.870 1.079 1.350 1.774 2.160 J8V 3.012 3.852 4.221
14 0.000 0.692 0.868 1.076 1.345 1.761 2.145 2.624  2.977  3.787 4,140
15 0.000 0.691 0.866 1.074 1.341 1.753 2.131 2.602 2947  3.733 4.073
16 0.000 0.690 0.865 1.071 1.337  1.746 2.120 2.583 2921  3.686 4.015
17 0.000 0.689 0.863 1.069 1.333 1.740 2.110 2,567  2.898  3.646 3.965
18 0.000 0.688 0.867 1.067 1.330 1.734 2.101 2.552 2.878 3.610 3.922
19 0.000 0.688 0.861 1.066 1.328 1,729  2.093 2.539  2.861  3.579 3.883
20 0.000 0.687 0.860 1.064 1.325 1.725 2.086 2.528 2.845 3.552 3.850
21 0.000 0.686 0.85% 1.063 1.323 1.721 2.080 2.518 2.831 3.527 3.819
22 0.000 0.686 0.858 1.061 1.321 1.717 2.074 2.508 2.819 3.505 3.792
23 0.000 0.685 0.858 1.060 1.319 1.714 2.069 2.500 2.807 3.485 3.768
24 0.000 0.685 0.857 1.059 1.318 1.711 2.064 2.492 2.797 3.467 3.745
25 0.000 0.684 0.856 1.058 1.316 1,708 2,060 2.485 2.787 3.450 3.725
26 0.000 0.684 0.856 1.058 1.315 1.706 2.056 2.479 2.779 3.435 3.707
27 0.000 0.684  0.855 1.057 1.314  1.703 2.052 2473 2771  3.421 3.690
28 | 0.000 0.683 0.855 1.056 1.313 1.701 2.048 2.467 2.763 3,408 3.674
29 0.000 0.683 0.854 1.055 1.311 1.699  2.045 2462  2.756  3.396 3.659
30 | 0.000 0.683 0.854 1.055 1.310  1.697  2.042 2.457  2.750  3.385 3.646
40 0.000 0.681 0.851 1.050 1.303 1.684  2.021 2423  2.704  3.307 3.551
60 0.000 0.679 0.848 1.045 1.296 1.671 2.000 2.390 2.660 3.232 3.460
80 0.000 0.6/8 0.846 1.043 1.292 1.664 1.990 2.374 2.639 3.195 3.416
100 0.000 0.677 0.845 1.042 1.290 1.660 1.984 2.364 2.626 3.174 3.390
1000 0.000 0.6/5 0.842 1.037 1.282 1.646 1.962 2.330 2.581 3.098 3.300
Z | 0000 0674 0842 1.036 1282 1.645 1.960 2326 2576  3.090  3.291
| 0% 50% 60% 70% 80% 30% 95% 98% 99% 99.8% 99.9%
Confidence Level
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